FORTEC STAR

MODEL NO : FC06-180CM

NO ITEM DESCRIPTION

1 M6 x 12L hex-head cap screw

2 | M8 x 45L hex-head cap screw

3| &— MB6x 50L anchor bot

4 @] M6 Nut

5 (@ M8 Nut

6 Hzzza M8x40L Screw

8| ¥ Stabiized Connecior 6

9| N Knob Bolt 1

10| (fz== Mx85L Screw (By Order) 1

11| © @ 6 Washer 6

12| e M6 x 20L hex-head capscrew | 6

20 &) Reflector (Dish) 6

€0, O Reflector Rim (Dish rim) 1

22 Mounting Rods 650mm 2

23| m=—== | Elevation Inner Pole Rods 670mm |1

24| m=——=| Elevation Quter Pole Rods 670mm |4

25 |e——= | SideTense Rods 820mm 2

26| &=———0 | SideTense Rods 720mm 1

271 O Mounting Bottsm Rim 1 1

28 Mounting Clamp 3

2 () Central Panel (By Order) 1 | Thread Max Tightening Torques
0 Central Panel Stablizer(By Order) | 1 M6 8.8N.m 90Kgt.cm
31| e=——, |Feed hom (LNB) Supporting Rods 986mm | 3 M8 214N.m 220Kgf.cm




